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o oIE 2R Y
(1239) 7,000 7,000 7,000
992,011 281,200 1,273,211 1,490,958 017,747
992,011 281,200 1,273,211 1,490,958 217,747
ol
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2 = = g I [ec—! s M 0
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nl = =] 3 n bS] At
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o 3 s M
M= Nyl 1,089,325 1,100,225 -10,900 5.3% o Y 16,102,250 14,817,083 1,285,167 77 .6%
s 9 . - .
" o 145,300 184,274 -38,974 0.7%2 = ° H =8 3,401 6,301 -2,900 0.0%
=
E ILS*E' Ef 17,000 1,440,600 -1,423,600 0. 1% & = = - - - 0.0%
A A
Eﬁ ;j ﬁ ol - - - 0. 0%| ol £ £ - - - 0.0%
=
SEsHy2 - - - ) IR E 170,000 1,916,800 -1,746,800 0.8%
Xt &b Xl S
. " o
PSS KT 1 1 - 0.0% < 281,200 621,220 -340,020 1.4%
oY XN =
oA 106,577 147,528 -40,951 0.5%% = 8 M 4 = - - - 0.0%
& jl Ol % I}' g y y y . ol 7T (=) T o e . o
D2 A s 1 1 - 0.0%
ol A g 33,125 106,577 -73,452 0.2%
X J0o X3 ’ ’ ’ eh
A 20,744,288 19,867,954 876,334 100.00% H 20,744,288 19,867,954 876,334 100.00%
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1. Yo £
(Et9] - 22l)
= 2017 2016 At
s MEEE MEEEv =2 2o
S| AFOH 2k=AH AFOH -
2 o 2 =0 HEL A (a8) ot szl At =t
- 3,030,760 2,290,960 739,800
PETEPeY
(5120) 3,030,760 2,290,960 739,800
Clo| &2t
-_(75|1—|;1:>)§- 3,030,760 2,290,960 739,800
[T FMIE]] A= SFlChstn SHA T A 800,000¥*15& 12,000,000
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AT = ME] BIA

ALZME 5

AXZME T

180 (209 »91+4)* 120,000
160 (20 *81+4)*30,000

80 (208 +42+4) 120,000

800 (20F«401+4)*30,000
500,000 *72t= 28«23t 7| %15
500,000 *32t=+18H+23t7| %20
500,000 *42t=+18+23t7| %20
231+5+150H+23|%90,000H

350,000 X 40 X 58t X 33

240,000 X 10 X 21t X 23]

73,000 %500 *1274&
91,000 %300 *1274&

160,000 *50H 1271

21,600,000
4,800,000
9,600,000

24,000,000

210,000,000
60,000,000
80,000,000

621,000,000

210,000,000

9,600,000¥

438,000,000
327,600,000

96,000,000
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2017
HISS334
=204kt
(A)

2o
o

—
=

A2 A

304
[= R }

AT2ME ©71 23}

AZLZME 1H7|2]

AZ=ME| OFF0t2 8

2E2ME AL

LEZME] HIED

AZ2ME 02015

AEZME] 2R

ABZME A4R4Y

ox

oy
3
B
ox

150,000+400%H
100,000 1001271
80,0009+200% 1271
104,0009*30 * 12712
77,00094+30* 12708
60,000 *30%* 12712
80,0009 *30%* 12712
10,00094%500% * 1272
10,00094%300% * 1272
409 X 400,0009

209 X 150,0008 X 23]
30% X 1024 X 200,0008
309 X 2,500,0009 X 23]
309 X 300,0008 X 23]
209 X 150,0008 X 43|
150 X 100,0009 X 23]
209 X 100,000 X 83|

15% X 102+4 X 100,000

60,000,000
120,000,000
192,000,000

37,440,000

27,720,000

21,600,000

28,800,000¥

60,000,000

36,000,000

16,000,000

6,000,000

60,000,000
150,000,000

18,000,000

12,000,000

30,000,000

16,000,000

15,000,000

3,030,760,000¥

16,355,325

1,650,959

50,000
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2017

2016

EL =2 =
oS e EEEE 22 &=
_ EXo: P el 2}= A Of| ALoH -
2 o 2 =0 HEL A (a8) ot szl At =t
B2 H CF2{ 01 2
T 50,000 50,000 -
= IO £0|5H9| A ECa 2
(71815 Sayel selsd getes 9_' 50,000,0009 14 50,000,000
A 50,000,000%
SEFSAMLYS
(5212) i )
78349
e 413,200 332,600 80,600
Yu|=a
o 150,000 100,000 50,000
(71815 Chare |22 49 150,000,0009 %1 150,000,000%
& 150,000,000%
237193
'(525 263,200 232,600 30,600
[st=z8] 2147182 250,000,0009 250,000,000
[BHA4E 2] DAY BT 49 1,100,000%12¢ 13,200,0009
a7 263,200,000%
nHzaAQ
%*(523075 15,792,125 14,321,766 1,470,359
282
Gl 15,400,000 14,200,000 1,200,000
[stmz|s 2oy 198 Feta 12,000,000,0009|  12,000,000,000¢}
[eH=z| 8 212 298 Hst2 2,000,000,000¢|  2,000,000,000¢
[eH=z| 8 oY 1,200,000,0009|  1,200,000,000¢
DS J|E 2R WEA(S
[ 2% YACHE|, HAEH R YALY 200,000,000% 200,000,000¥
Q)
Br 15,400,000,0009
7|E}2 DR
' (?213*2)'3 342,125 61,766 280,359
[ZAI LB AIE]] LHEAHRST K-Move Atg) Al 6,000,0008%20% 120,000,000¢
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(A)
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HISS=34

23423 ofldtey
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1R

oy
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+
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B
118}

tr
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H
ol
o
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ol

7[Efm LAY

50,000,000
5,000,000
158 %22]*150,000¥

175,000% X 5% X 33|

234 +5,000,000

80,000,000

70,000,000

50,000,000
5,000,000
4,500,000

2,625,000

10,000,000

80,000,000

70,000,000

342,125,000

50,000

60,000

-10,000

AR 2 DAY

490,000 HE& 30,000

234 +5,000,000¢

40,000,000

10,000,000

50,000,000

100,000

100,000

100,000

100,000

e
e
n
2

o
o

100,000,000¢ * 14

100,000,000

100,000,000¢
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2017

2016

60

i HIS 233 HISZ 33 =% dE=A
3 @ s = HEL A B e MEL Atz 3o

Xl o
- 1,089,325 1,100,225 -10,900
a*'giofa 270,000 270,000 -
éﬁ% 270,000 270,000 -

Ytz RN 20,00094%13,500% 270,000,000¢

A 270,000,000%
%E"’qgf%f@ 223,025 255,225 -32,200
Egﬁ 8,400 8,400 -

=y ZgReeR 12742x700,0009 8,400,000%

Al 8,400,000
Eﬂqf;i;*z*)gi 214,625 246,825 -32,200

[Zal%] ZolM U 2HOjA|M tHol B 1,700,00094* 1270 20,400,000¢

[Zal%] S HBI4T AR 850,0009* 1270 10,200,000%

[22F] GS25(RI2[E) AiArEZ HolH AR Stz 38,000,000

[22lF] GS25(7|5Ah) Yciitg= WOl ALE AULhZ 43,000,000¢

[22lF] DM 212|21093 AL = 12,728,000¢

[22lF] OlC|oHATH=2H) 221183 A Ytz 13,637,000¢

[22lF] NEE EIEERY) SAH7| 42| Aoz 2,850,000¢

[22F] NEEEICER) SAH7| 42| Aoz 2,400,0008

[22F] KT (D22 SAH7| 42| Aoz 3,000,000¢




3= 2017 2010 ey
HSE=2A HSE32A o
2 o 2 = HEL A (48) ok A sz A2 30

[#2]% KT(Lksha) SH7| dx| A= 3,000,000¢

[#2]% LG U+(D|2H2) SH7| dx| A= 2,600,000

[22| & LG U+(4hata) SA7] x| HUti= 2,600,000¢

[22| & BHHH (RHHY]) L I e o s S R e = 11,000,000

[elf OLECH2 S MO & (OI3HA}) Z12|2101-43 A2 HACE 2,000,000

[2H2| %] Ztm|E| 2ot (A YE a2t AT H) AMYESHY 2H| ALE HUHZ 10,910,000

[2H2| %] SHE e SHE MY IS AE HAUCHZ 15,000,000

[2H2| %] DITAZZISHIE | MRS 13 L Z|otAHE ¢tz 10,000,000

[2H2| %] HSWe| (e | SHMER T|SAE MEA HTHE 1,000,000%

[22|%] L (UYHIEAY) Ao 221205 A2 Ytz 6,000,000

[22| 8] SAZRAYCH AR A Ay R 2075 ALE AJAY=E 3,300,000

[22|8] SUAEO0 HOY Atz | FEH 15 SHAEOLALE Sz 1,000,000¢

A 214,625,000
7 'E*I'(f;i;"ﬂ’ 596,300 575,000 21,300
7'EE'(L593‘3$9E)”¢@ 596,300 575,000 21,300

REEEDY AEA Ut 49 10,000,0008 * 14 10,000,0009

[eHE 2| 2] 2017\ DITSHAYEHRH Q) 2t 4100009 %1430% 586,300,000

A 596,300,000%
145,300 184,274 -38,974
q'E('LSOE B’T%’ 84,000 90,000 -6,000
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/-1 2017 2016 Az
N HSE=2A HISE=2 o i
o 2 = HEL A (a8) ot szl At =t
o= 0|2t )
(5411) 84,000 90,000 6,000
[F2lF] 1,28t7| of|20[2t ¢ 42,000,000 %287 84,000,0009
A 84,000,0009
7|Etmgel4 Y i
(5420) 61,300 94,274 32,974
Y4 .
(5421) 61,300 94,274 32,974
[d2|%] 7Bt 300,000 300,0008
[2BR] ZAE 2| maymtay 4,0008x10,000¥ 40,000,000
im=| 2|72 A 4,0008x5,0009 20,000,000
[Hdags] SAR0[Q &Y 1,000,000% 1,000,000
Al 61,300,0009
17,000 1,440,600 -1,423,600
gol7|3elasy ]
(1260) 17,000 1,440,600 1,423,600
olger| 3% .
(1264) 10,000 34,600 24,600
s Fsp|22Y aUsE 238 .
EREELY R R Ry 10,000,008
Al 10,000,000¥
Qo= =273
oz 7,000 1,406,000 -1,399,000
(1266)
[7181%] Fdu=xetnl ARSPIC = Ro 7,000,00094 %1 7,000,0009
A 7,000,0009
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a2 2017 2016 Az
e HISE238/Al HISE33/A Al a2
2 8 2 = HEL A (a8) ot szl 4221 =t
FYDYALAOY 2k
Ou’ - - -
(1310)
= Mozt N N :
(1317)
- 1 1 )
7|22
(2210)
A7|2td 22 3 N :
(2211)
7|EtnE 2y 1 ] 3
(2220)
A2 S24¢ 1 1 3
(2221)
[2e2lg] AZEZ| 1,000% 1,000
A 1,000¢
712 20,637,711 19,720,426 917,285
(el =i= 106,577 147,528 -40,951
7| 2RS4
(1110) 935,577 933,158 2,419
S22 .
(1110) 789,261 863,370 74,109
7|EtR-S A
(1120) 146,316 69,788 76,528
UES=
(2100) 829,000 785,630 43,370
o2
(2120) 3,000 466 2,534
=
(2130) 786,000 713,812 72,188
7|EtEEAY i
(2140) 40,000 71,352 31,352
24U A 20,744,288 19,867,954 876,334
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d0
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2017
HlS 23317
oj Aol
)

2016
HIS 23307
2327 oMty

®)

N
-

> o
@0

r=
e
18

2,524,720

1,437,700

1,087,020

1,967,460

1,272,920

694,540

371,000

-371,000

10,600

9,400

1,200

23]X3,500,000¥

1022+4X200,000¥

7,000,000

2,000,000

1,600,000

10,600,000

767,000

50,000

717,000

50,000,000

567,000,000

150,000,000

767,000,000¢

1,029,860

829,920

199,940
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18]+4,000,000¢

9144 +650,000¢

82+ %250,000¢

4,000,000

5,850,000

2,000,000




AH A2 2017 2016 Az2

HlS 23317 HIS 23307 2y
- N oj Ao 2327 oMty (A-B) )
o 8 2 @) ®) OfAHEA AU A2 o

(R o|=ol Zo|= 432+%+650,000% 2,600,000
R Uutol oz 40243 +250,000% 10,000,000
[Cl2 e Aysta =) BB (FEZ/0|202) 40,0009+ 155 %3A| 2H+ 5342 # 23] 18,000,000
[Cl2 e mAysta =) B EZ/AE2) 40,0009+ 155 %4A| 2k« 1242+ 23] 4,800,000
[Cl2 e mAysta =) A (EY/0|22) 50,0009 *155+3A|2H+ 1022 +23] 45,000,000
[ClA T AsE ) AR EYAE2) 50,0009 *155+4A| 2t 222 +23] 12,000,000
[ClA T AEE H) AR (EBASIR) 30,0008 * 155 *34|2t+ 322423 8,100,000
[ClAemAsE S AR | 10,0009 +23]+120% 2,400,000
R TEEE £33 10,0009 +23]+120% 2,400,000
R TEE LAR 3A|ZH+ 15323112 +23(+40,0009 82,800,000
[CIA HmArsHE 5 ZAR(AE2E)| 30,0008 X 153 X 3A|2E X 528X 33 20,250,000
[CIA HmArsHE 5 ZAF2(0123})| 30,0009 X 153 X 3AI2HX 23+ X 23] 5,400,000
R AR =H| 20,0009 X 200% X 33| 12,000,0008
[CIA Y dsHER] HRI W2 | 100,00094 X 1Y X 33| 300,000

[QatEEy] A2 2A2 114:90,000 HIE 30,000 40,000,000

(B4R H] AREME] BAR 55,000,0009+ 1272 660,000,000

(B4R H] YL TANY 160412t X 40,0009 6,400,000

[(HARS ] ZREDY 28|X304A12kX40,0008 2,400,000

[(HARS ] AAEIY 30% X 1024 X 50,0009 15,000,000
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AY 2=
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Jo
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HlS 23317
oj Ao
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2016

HIS =33
23427 oAty

B)
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P o
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—1OH
=kl

143 X 400,0009 X 28]

100A]2+ X 30,0009 X 28]

16A12F X 40,0009 X432

50A|2F X 4% X 50,000 X 23]

1647 X 50,0008 X 83

30A12E X 102+ X 50,0009

4104E«35A|2++50,0008

11,200,000

6,000,000

2,560,000

20,000,000¥

6,400,000

15,000,000

7,000,000

1,029,860,000¢

160,000

160,000

160,000,0009 1%

160,000,000

160,000,000

12,600

-12,600

557,260

164,780

392,480

138,000

-138,000

26,260

26,780

-520
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1274&+100,000

2Y*155%25|%40,000

40,0009 X 5% X 10

1,300,0009x1270€

1,200,000

2,400,000

2,000,000

15,600,000




Ay e HS B a7 WP 22 dE=A
& & =2 %(?lﬁ * Zifﬂi'?g)q s (8 Ol AHR A A2y HAEH o
=R imE= L OIRICEQDHY Ofzhat 23IX1,280,000% 2,560,000%
=R imE= L WH2Y FU224Y 252X40,000¥ 1,000,000
=R imE= L AR 224 53]X300,000% 1,500,000
A 26,260,000¥
Zﬁ'%gﬁigg 391,000 - 391,000
[Za1%] 2|9l Alsfel 2E3 351,000,000%
[EF%] A2 (1%) 40,000,00084x13] 40,000,0009
A 391,000,000
2'315;4)% 140,000 - 140,000
[718%] 2| Ho| |22 140,000,000 * 13 140,000,0009
A 140,000,000%
1,629,591 962,272 667,319
611,806 210,371 401,435
aéﬁ?ﬁ'm 340,000 12,570 327,430
(228 Qiﬁdﬂ? ey o 50,000,000% 50,000,000%
[22lg] i{é‘g’.:jﬂé_ﬁi L SR 60,000,0009! 60,000,0008
[22g] E%ﬂggj)gfﬂgﬂ%}' 242 60,000,0009! 60,000,000
a8 gzéﬁgﬁgél Bojeis 60,000,0009! 60,000,0008
(228 ;iiigﬂiﬂl U= onE 40,000,000 40,000,000
EED gﬁl Zap3 eEt et B4 30,000,000 30,000,000
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AHE s H|%2%Oé7§|71| Hl%zéoél%lﬁl 2 aE=7
_ =2oj| Akl 2277 ojjktoy (A-B)
B s = @) ® ofArE A NEEE A2 H 2

[shd= 25 587 924 Q| 40,000,0009 40,000,0009

A 340,000,000

ga’% _LZ")H' 61,400 17,700 43,700

[CIREE st EE] EH|0|R| R4 127112 +250,0009 3,000,000%

[CIR YL dstEE] LMSRA| 24 127112 %500,00094 6,000,0002

[CIR YL dstEE] Me|Z| 22124 127112+700,00094 8,400,0002

[CIR L dstEE] LMSS3 U 71&37t 71 20,000,000 20,000,0009

[BYugs] EI0|2| R 28R 127112 X250,0009 3,000,000%

[BYugH] ZHZ Z|aly| 107|71X100,0009 1,000,0009

[EHE=2|%] Y2EI| 22| Q| 20,000,000 20,000,0009

A 61,400,000%

52@% 7,750 4,000 3,750

[ClIAYBEsIEE]  |HEER 2,000 *2509 500,0009

[ClzgTdsEss] (282 750 750,0002

[ClzgTdsER] (282 500,0009 X 13 500,0009

[BYRgE] ATZMEH B2 2,000%+2,5009 5,000,0009

[BYRgE] 2z 232 1,000,000%
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Ad e 2017 2016 Hzar
HSE38 4| HSE38A Xt
_ 20| Akl 2234 of Akl (A-B) _
2 3 2 @) ®) OflAHR A NETE = 29
A 7,750,0008
2|2 ozt
@217) 202,656 176,101 26,555
[CIXYmAsLE R AP 12742 +100,000% 1,200,000
=R imE= L ARZME SHZY| 3,500,000% 1271 42,000,000¢
=R imE= L ARZME] HEHA 13,000,000+ 12742 156,000,000
[E=RimE= L DoIZHIA| A 200,000% 127 2,400,000
[Baus8] DREY| iz 127112X100,0009 1,056,000%
A 202,656,000
7|EtA|d e |l| ; ) R
(4219)
OjH| nEH|
@4227) 11,500 8,314 3,186
[CAHTEsHER] OfH| n&H| 127112 +100,000¥ 1,200,0009
[CAHTEsHER] OfH| n&H| 600 600,000
[CR gL AstE ] ofH|mEH| 10 +53]%100,0009 5,000,0008
[ClR gL AstE ] ofH|mEH| 150,0002 X 103 1,500,000
[E<RtmE=C| DY HIx|opY 23X2%X300,000¢ 1,200,000
IHAH NS A LH <] al Dp = =
g=RtimE= | agusny U 2 A2 403]X50,000% 2,000,000
o
37 11,500,000
ADEH|
(4223) 46,900 15,375 31,525
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Ay s 2017 2018 RE=Y
HeEa8A HISS 33 3¢
o 3 = %(?lﬁ * Zihz'?g)q s (8 Of| AL A Az A A2 2o
[CIREE st EE] ARE 1271124 +250,0009 3,000,000%
[CIREE st EE] SIS (42| 2 3) 10,000%2007H 2,000,000%
[CIREE st EE] MEgs 15,000,009 1,500,000%
[CIREE st & ] EH Y3 107 * 100,000% 1,000,000%
[CIREE st EE] SHAHIQICS (L§ 2| 8 1007l%10,0009 1,000,000%
[ClAIHBAsIEE] A4, A3R2| 10082 * 30,0009 3,000,000%
[CIR YL dstEE] SHA QIS (L) 2| 28 10,0009 X 10074 1,000,000%
[BYugs] AL ZME HAES 500,00094* 127112l 6,000,0002
[BYugs] MY, EfolM AR E 500,00094* 127112l 6,000,0002
[BYugH] HHUS HERY A2 2| 12711$4X200,0009 2,400,0002
[EHE=2|%] T|SAL ARETY Q| 20,000,000 20,000,0009
A 46,900,0009
ﬂﬂi%“' 51,850 72,150 -20,300
[2F5] ETE A2 2,000¥x7,5509 15,100,000¢
[RFH] ER=p ESmpy 3,000x4,000¢ 12,000,000¢
Im| AR 1,8002x 10,000 18,000,0009
[CIR S E st EH] QI 2| 5,0009 X 20024 1,000,000%
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AH A= 2017 2016 Ab
B BIS223|7 BS2237 =
_ 2ojAro 23427 ojAroH (A-B)
o 3 =2 (A) ®) oA, AE L A2 2o
[Winsgs QIRICEOHY 23|X30#X50,000 3,000,000
[Winsgs e A= 102]X100,000€ 1,000,000
[Winss SYESAHE wAfH| 505X15,000 750,000
[Winss SOALY W 2fH| 43113 *25%*10,000 1,000,000
A 51,850,000
gl 162,000 114,000 48,000
(4225) ' ' '
[Winsgs AR ZME] ZAIZHAH]| 8,000,000 *1271& 96,000,000
[eHAE 2| H] ez Q| 5,500,000 * 1271 66,000,000
A 162,000,000
7|8
4226) 234,000 191,000 43,000
[Wnsgs AR ZMHE HY|=2 6,000,000 *1271& 72,000,000
[Wnsgs ADZME] 245 3,000,000 *1271& 36,000,000
[eHdE 2] HI12 2 7,500,000% 1270 90,000,000
[eHdE 2] dotr=ER Q| 3,000,000 *1271& 36,000,000
A 234,000,000
S| 32,700 32,092 608
(4227) ' '
[ClA| S| 1,000,000¢ 1,000,000¥
EREER A MH|A 12742 *30H*50,000% 1,800,0009
[ClA| SMS,LMS 12742 +500,000¢ 6,000,000¥
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12742 100,000¢

127§ +1,500,000

127§ 200,000¢

2,000¢ X 4004

1,200,000

18,000,000

2,400,000

800,000¥

1,500,000

32,700,000¢

ZEMss2s

(4228)

2,000

700

1,300

o
0z
EJ
Ho
o
oo
10
oi
e
o o

18] X 400,000¢

1o

fon Joi

o

18] X 200,000¢

T

ol
0z
e El

R o Ho

T ol

T o

18] X 300,000¢

o

1o fon

tol

18] X 100,000¢

400,000
200,000
300,000
100,000
1,000,000

2,000,000

AgesE

(4229)

92,600

66,692

25,908

[F2l%]

CREGFEEEN

72

23]%5,000,000¢

100,000

15,000,000

6,000,000

10,000,000




AH A2 2017 2016 Az2

HIS223|7 BHIS233]% 22 -
_ 2ojAro 23327 of Atk (A-B) _
o 3 =2 (A) ®) O AHR A U A A2 o

[ClA| Y HAeHSE] HaAUE 252+5+700,0009 17,500,000
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